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Bg/L Bg/L
c c B (
35m ? 2 )
T-2 c-2-1 c-0 B-0-1 X-1
11 23 11 23 11 23
7:30 7:16 7:10
Cs-134 2 ND(0.86) ND(2.2) Cs-134 2 ND(16)
Cs-137 30 ND(1.2) ND(2.4) Cs-137 30 ND(26)
B ND(17) ND(15) B ND(15)
330 T-2
ND
Ba/L  [ESEESSS Y Bt 2ol ¥Rk e e e R
c c i
35m 2 (HPKEBROME
T-2 C-2-1 C-0
Cs-134 2 35 11/9 59 <8/11> 20 <2/15>
Cs-137 30 81 9/1511/9 15 <8/11> 51 <2/15>
B ND 78 <9/7> 120 <2/15> | (IS et DSt i an s oot RS 1 sty S R ) pe— e T
B (
) 1381 3C HkEMERIL
B-0-1 X-1 -%4 IR PBRIRNTAY. CHbkEs
ADFNABI IBIE R A
Cs-134 2 110 <5/1> 450 10/4 B At il it
X RSP IERE I SEWIS
Cs-137 30 280 <5/1> 990 10/4
B 380 972 15,000 10/2
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